
 present simple of to be

questions

Verbformen---

Fill in the gaps with a correct form of the verb to be.

1. ________ I ? 0,886 ________ it ? Am
;

Is

2. ________ we ? 0,809 ________ I ? Are
;

Am

3. ________ I ? 0,814 ________ she ? Am
;

Is

4. ________ you ? (sg) 0,261 ________ we ? Are
;

Are

5. ________ we ? 0,341 ________ they ? Are
;

Are

6. ________ it ? 0,521 ________ we ? Is
;

Are

7. ________ she ? 0,580 ________ we ? Is
;

Are

8. ________ she ? 0,472 ________ it ? Is
;

Is

9. ________ you ? (pl) 0,021 ________ you ? (sg) Are
;

Are

10. ________ she ? 0,532 ________ you ? (pl) Is
;

Are

11. ________ he ? 0,106 ________ we ? Is
;

Are

12. ________ we ? 0,442 ________ you ? (pl) Are
;

Are

13. ________ he ? 0,392 ________ she ? Is
;

Is

14. ________ he ? 0,606 ________ you ? (pl) Is
;

Are

15. ________ they ? 0,283 ________ I ? Are
;

Am

16. ________ it ? 0,814 ________ you ? (pl) Is
;

Are

17. ________ you ? (pl) 0,549 ________ I ? Are
;

Am

18. ________ it ? 0,852 ________ they ? Is
;

Are

19. ________ they ? 0,829 ________ you ? (sg) Are
;

Are

20. ________ you ? (sg) 0,307 ________ it ? Are
;

Is

21. ________ you ? (pl) 0,783 ________ they ? Are
;

Are

22. ________ I ? 0,124 ________ you ? (sg) Am
;

Are

23. ________ they ? 0,837 ________ he ? Are
;

Is

24. ________ I ? 0,918 ________ he ? Am
;

Is

25. ________ he ? 0,623 ________ it ? Is
;

Is

26. ________ you ? (sg) 0,490 ________ he ? Are
;

Is
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